1) {2 ptseach) Troe/ Fale--Circle your chojee, Circls T only i the statement is abways ue.

- [N caplanation necessary. |

(a) Iof48) = (izA)(InE)

(B) ne™d =3t}

(c]  sin{%a) = Isina)

{d} Asx— og o™ dominares 1.001°
(e log{lid}=logA+l (A a®

{f) A" degres polynomial must have at least
oo teal zero.

()
T
T

&

@

F

SORC IS

2} {3 pts—No explanation necessary,} The graphs of three. fimctions are given in the figure below.

Complete sach of the statements below by using ihe symbels =, < of =

< g

] q a

¢ B2 4

Which, if any, of the parameters a.6,c.4.q,v are greater thaz zero?
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